26. Which of the following essential nutrient element required by plants in the greatest amount?
a. P
b. N
c. Ca
d. Mg
Answer- b.	N

27. Phosphorous is not absorbed by the plants in which form
a. HPO4-3
b. H2PO4
c. H3PO4
d. All of these forms are absorbed
Answer - c.	H3PO4

28. Nitrogen is an important constituent of:
a. Proteins, nucleic acids
b. Hormones
c. Vitamins
d. All of these
Answer - d.	All of these

29. Nitrogen is absorbed in which of the following forms by plants:
a. NO3
b. NO2
c. NH4-
d. All of these
Answer - d.	All of these
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30. Phosphorous is a constituent of:
a) Cell membranes 
b) Nucleosides
c) Certain proteins
d) ATP

a. All of these
b. a, b, d
c. a, b, c
d. None of these
Answer - d.	None of these
